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Question Select the letter-cluster from among the given opt

ions that can replace the question mark (?) in the following s
eries.

§KI—jM, SODQ, KSZU, GWVY, ?

a)GHF
b)FGT
c)GHI

d)GRD



Q.Select the letter-cluster from among the given opti
ons that can replace the question mark (?) in the follo
wing series

DIJRZ, HDZP, LXHF, PRPV, ?

a)TMXK
b)TLXM
c)ULYL
d)TLXL



Q. Select the letter-cluster from among
the given options that can replace the g
uestion mark (?) in the following series

PaC; ROF, 181; V121, ¢

(a) Y170
(b) X16M
(c) X170
(d) X160



Question: Which of the following terms follows the
trend of the given list?

PRRQPQPQ, PQRRPQPQ, PQPRRQPQ,PQPQRRPQ,
PQPQPRRQ,

a) PQPQPQRR
b) PQPOPQRR
C) PQPQPQPP
D) PRPQPQPR



Q. Select the letter-clusters from among the given options
that can sequentially replace both the question marks (?)
in the following series.

ZCKR, bfow, DISB, flwg, HOAL, ?, ?

a) JREQ, luiw
b) jreq, LUIV
c) jres, LUIX
d) jrfgq, LUIW






